

Calculation of a Certain Determinant

Madan Lal Mehta¹, Rong Wang²

¹ S.Ph.T., C.E. de Saclay, 91191 Gif-sur-Yvette Cedex, France; member of C.N.R.S.
E-mail: mehta@sph.t.saclay.cea.fr

² Institute of Biophysics, Chinese Academy of Sciences, Beijing, P.R. China

Received: 30 August 1999 / Accepted: 29 March 2000

Abstract: The $n \times n$ determinant $\det[(a + j - i)\Gamma(b + j + i)]$ is evaluated. This completes the calculation of the Mellin transform of the probability density of the determinant of a random quaternion self-dual matrix taken from the gaussian symplectic ensemble. The inverse Mellin transform then gives the later probability density itself.

1. Introduction and Results

Matrices whose elements, or real parameters determining the elements, are Gaussian random variables have been extensively studied for the statistical properties of their spectra [1]. One particular property is the probability density of the determinant (PDD) of such matrices. The PDD of $n \times n$ real symmetric matrices was derived by Nyquist et al. [2] to be a Meijer G-function. The PDD of $n \times n$ matrices belonging to the following classes was considered recently by Normand and one of the authors [3] (i) complex hermitian, (ii) complex, (iii) quaternion real self-dual, (iv) quaternion real, and (v) real symmetric matrices. The method used was to compute the Mellin transform of the PDD and then invert it to get the PDD itself. The Mellin transform in case (i) turned out to be a determinant with elements $\Gamma(a + i + j)$, simple enough to evaluate. Thus the PDD for matrices of cases (i) and (ii) was found to be either a Meijer G-function or a linear combination of two Meijer G-functions. For case (iii) the Mellin transform of the PDD was found to depend on determinants of matrices with elements $[(a + j - i)\Gamma(b + j + i)]$ and $a = 0$ or $1/2$, $b = s/2$ or $s \pm 1/2$. These determinants are evaluated here thus completing the derivation of the PDD of matrices in case (iii). The question of the PDD of matrices in cases (iv) and (v) remains open.

In this brief note we evaluate the determinant of any matrix

$$[(a + j - i)\Gamma(b + j + i)]_{i,j=0,1,\dots,n-1} \quad (1)$$

or its pfaffian when $a = 0$. The result is

$$M_n(a, b) = \det[(a + j - i)\Gamma(b + j + i)]_{i,j=0,1,\dots,n-1} \quad (2)$$

$$= D_n \prod_{i=0}^{n-1} i! \Gamma(b + i), \tag{3}$$

$$\begin{aligned} \sqrt{M_{2n}(0, b)} &= \text{Pf}[(j - i)\Gamma(b + j + i)]_{i,j=0,1,\dots,2n-1} \\ &= \prod_{i=0}^{n-1} (2i + 1)! \Gamma(b + 2i + 1), \end{aligned} \tag{4}$$

where

$$D_n = \det[a\delta_{i,j} - \delta_{i,j+1} + j(b + i)\delta_{i,j-1}] \tag{5}$$

$$= \text{coeff. of } (z^n/n!) \text{ in } (1 - z)^{-(b+a)/2}(1 + z)^{-(b-a)/2} \tag{6}$$

$$= \sum_{k=0}^n (-1)^k \binom{b-a}{k} \binom{b+a}{n-k} \tag{7}$$

with Pochhammer’s symbol

$$(a)_n = \Gamma(a + n) / \Gamma(a). \tag{8}$$

The expression for D_n simplifies when a is a small integer or when $a = b$.

The final result for the probability density $g_n(y)$ of the determinant of an $n \times n$ random quaternion self-dual matrix is as follows. It is convenient to consider the even and odd parts $g_{n\pm}(y) = \frac{1}{2}[g_n(y) \pm g_n(-y)]$ of $g_n(y)$ separately. The Mellin transform of the even part $g_{n+}(y)$ was found [3] to be a constant times $M_n(\frac{1}{2}, \frac{s}{2})$ while that of the odd part $g_{n-}(y)$ was found to be a constant times $\text{Pf}[(j - i)\Gamma(j + i + \frac{s+1}{2}) \times \text{Pf}[(j - i)\Gamma(j + i + \frac{s-1}{2})]$, if n is even, and zero if n is odd. The Mellin transforms of $g_{n\pm}(y)$ are thus seen to be either a product of Gamma functions or a linear combination of these products. The $g_{n\pm}(y)$ and their sum $g_n(y)$ themselves are thus either a Meijer G-function or a linear combination of two Meijer G-functions. However, it is cumbersome to write their expressions except for small values of n .

The corresponding problem for random real symmetric matrices or for quaternion real matrices with gaussian element densities remains open, as noted earlier.

2. Evaluation of the Determinant

We will need the following lemma.

Lemma. For j a non-negative integer and A and B complex numbers one has the identity

$$F(j, A, B) \equiv \sum_{k=0}^j (-1)^k \binom{j}{k} (A + j - k)_k (B)_{j-k} = (B - A - j + 1)_j \tag{9}$$

Proof. The lemma is trivial for $j = 0$ and easy to verify for $j = 1$. Suppose that it is true for some positive integer j . Then for the next integer

$$\begin{aligned}
 F(j + 1, A, B) &= \sum_{k=0}^{j+1} (-1)^k \binom{j+1}{k} (A + j + 1 - k)_k (B)_{j+1-k} \\
 &= \sum_{k=0}^{j+1} (-1)^k \left[\binom{j}{k} + \binom{j}{k-1} \right] (A + j + 1 - k)_k (B)_{j+1-k} \\
 &= B \sum_k (-1)^k \binom{j}{k} (A + 1 + j - k)_k (B + 1)_{j-k} \\
 &\quad - (A + j) \sum_k (-1)^{k-1} \binom{j}{k-1} (A + j - k + 1)_{k-1} (B)_{j-k+1} \\
 &= B F(j, A + 1, B + 1) - (A + j) F(j, A, B) \\
 &= (B - A - j) F(j, A, B) = (B - A - j)_{j+1}. \tag{10}
 \end{aligned}$$

And so it is true for every positive integer j . Note that the binomial coefficient $\binom{j}{k}$ is zero if the integer k is either negative or is greater than j . Actually, $k! = \Gamma(k + 1)$ can be replaced by ∞ whenever k is a negative integer. \square

Corollary.

$$\sum_{k=0}^j (-1)^k \binom{j}{k} (j - k) (A + j - k)_k (B)_{j-k} = j B (B - A - j + 2)_{j-1}. \tag{11}$$

Proof.

$$\begin{aligned}
 \text{Left hand side} &= j B \sum_{k=0}^{j-1} (-1)^k \binom{j-1}{k} (A + j - k)_k (B + 1)_{j-1-k} \\
 &= j B F(j - 1, A + 1, B + 1) = j B (B - A - j + 2)_{j-1}. \tag{12}
 \end{aligned}$$

\square

Determinant. The determinant of a matrix is not changed if we add to any of its rows (columns) an arbitrary linear combination of the other rows (columns). Replacing the j^{th} column $C_j = (a + j - i) \Gamma(b + j + i)$ by

$$\begin{aligned}
 C'_j &= \sum_{k=0}^j (-1)^k \binom{j}{k} \frac{\Gamma(b + j)}{\Gamma(b + j - k)} C_{j-k} \\
 &= (a - i) \sum_{k=0}^j (-1)^k \binom{j}{k} (b + j - k)_k \Gamma(b + i + j - k) \\
 &\quad + \sum_{k=0}^j (-1)^k \binom{j}{k} (j - k) (b + j - k)_k \Gamma(b + i + j - k)
 \end{aligned} \tag{13}$$

$$\begin{aligned}
 &= \Gamma(b+i)[(a-i)F(j, b, b+i) + j(b+i)F(j-1, b+1, b+i+1)] \\
 &= \Gamma(b+i)[(a-i)(i-j+1)_j + j(b+i)(i-j+2)_{j-1}] \\
 &= \Gamma(b+i) \left[(a-i) \frac{i!}{(i-j)!} + j(b+i) \frac{i!}{(i-j+1)!} \right], \tag{14}
 \end{aligned}$$

where in the third line above we have used the lemma and its corollary. Taking out the factors $\Gamma(b+i)$ one has

$$M_n(a, b) = \left[\prod_{i=0}^{n-1} \Gamma(b+i) \right] \det \left[(a-i) \frac{i!}{(i-j)!} + j(b+i) \frac{i!}{(i-j+1)!} \right]. \tag{15}$$

Now replace the row

$$R_i = \left[(a-i) \frac{i!}{(i-j)!} + j(b+i) \frac{i!}{(i-j+1)!} \right] \tag{16}$$

by the linear combination

$$\begin{aligned}
 R'_i &= \sum_{k=0}^i (-1)^k \binom{i}{k} R_{i-k} \tag{17} \\
 &= \sum_{k=0}^i (-1)^k \binom{i}{k} \left[(a-i+k) \frac{(i-k)!}{(i-k-j)!} + j(b+i-k) \frac{(i-k)!}{(i-k-j+1)!} \right] \\
 &= i! \sum_{k=0}^i (-1)^k \left[\frac{a-i}{k!(i-j-k)!} + \frac{1}{(k-1)!(i-j-k)!} \right. \\
 &\quad \left. + \frac{j(b+i)}{k!(i-k-j+1)!} - \frac{j}{(k-1)!(i-k-j+1)!} \right] \\
 &= i! \left[\frac{(a-i)}{(i-j)!} \sum_{k=0}^i (-1)^k \binom{i-j}{k} - \frac{1}{(i-j-1)!} \sum_{k=0}^i (-1)^{k-1} \binom{i-j-1}{k-1} \right. \\
 &\quad \left. + \frac{j(b+i)}{(i-j+1)!} \sum_{k=0}^i (-1)^k \binom{i-j+1}{k} + \frac{j}{(i-j)!} \sum_{k=0}^i (-1)^{k-1} \binom{i-j}{k-1} \right] \\
 &= i! [(a-i)\delta_{i,j} - \delta_{i,j+1} + j(b+i)\delta_{i,j-1} + j\delta_{i,j}] \\
 &= i! [a\delta_{i,j} - \delta_{i,j+1} + j(b+i)\delta_{i,j-1}]. \tag{18}
 \end{aligned}$$

Thus

$$M_n(a, b) = D_n \prod_{i=0}^{n-1} i! \Gamma(b+i), \tag{19}$$

where

$$D_n = \det[a\delta_{i,j} - \delta_{i,j+1} + j(b+i)\delta_{i,j-1}]. \tag{20}$$

Expanding by the last row and last column, one gets the recurrence relation

$$D_{n+1} = aD_n + n(b + n - 1)D_{n-1}, \tag{21}$$

$$D_0 = 1, \quad D_1 = a, \quad D_2 = a^2 + b, \quad \dots \tag{22}$$

To find D_n introduce the generating function

$$f(z) = \sum_{n=0}^{\infty} \frac{z^n}{n!} D_n. \tag{23}$$

Multiplying Eq. (21) on both sides by $z^n/n!$ and summing over n from 0 to ∞ , one has

$$f'(z) = af(z) + bz f(z) + z^2 f'(z) \tag{24}$$

since

$$\sum_{n=0}^{\infty} D_{n+1} \frac{z^n}{n!} = \frac{d}{dz} \sum_{n=0}^{\infty} D_n \frac{z^n}{n!} \tag{25}$$

and

$$\begin{aligned} \sum_{n=0}^{\infty} n(b + n - 1)D_{n-1} \frac{z^n}{n!} &= bz \sum_{n=1}^{\infty} D_{n-1} \frac{z^{n-1}}{(n-1)!} + z^2 \sum_{n=2}^{\infty} D_{n-1} \frac{z^{n-2}}{(n-2)!} \\ &= bz f(z) + z^2 f'(z) \end{aligned} \tag{26}$$

hence

$$(1 - z^2)f'(z) = (a + bz)f(z) \tag{27}$$

or

$$f(z) = (1 - z)^{-(b+a)/2} (1 + z)^{-(b-a)/2}. \tag{28}$$

This gives Eqs. (3) and (7).

If $a = 0$,

$$f(z) = (1 - z^2)^{-b/2} = \sum_{n=0}^{\infty} \frac{z^{2n}}{n!} \left(\frac{b}{2}\right)_n \tag{29}$$

so that the determinant (2) of an $n \times n$ matrix is zero when n is odd, as it should, and when n is even it is

$$\begin{aligned} M_{2n}(0, b) &= \frac{(2n)!}{n!} \left(\frac{b}{2}\right)_n \prod_{i=0}^{2n-1} i! \Gamma(b + i) \\ &= \left[\prod_{i=0}^{n-1} (2i + 1)! \Gamma(b + 2i + 1) \right]^2. \end{aligned} \tag{30}$$

The pfaffian is the square root of this and its sign can be fixed by looking at one of the terms.

When $a = b$,

$$f(z) = (1 - z)^{-a} \quad \text{and} \quad D_n = (a)_n. \tag{31}$$

When a is a small integer, expression (7) for D_n simplifies. For example, when $a = 1$,

$$f(z) = (1 + z)(1 - z^2)^{-(b+1)/2} = (1 + z) \sum_{n=0}^{\infty} \frac{z^{2n}}{n!} \left(\frac{b+1}{2}\right)_n \tag{32}$$

and

$$D_{2n} = \frac{(2n)!}{n!} \left(\frac{b+1}{2}\right)_n, \tag{33}$$

$$D_{2n+1} = \frac{(2n+1)!}{n!} \left(\frac{b+1}{2}\right)_n. \tag{34}$$

Or when $a = 2$,

$$f(z) = (1 + z)^2(1 - z^2)^{-(b+2)/2} = (1 + z)^2 \sum_{n=0}^{\infty} \frac{z^{2n}}{n!} \left(\frac{b+2}{2}\right)_n \tag{35}$$

and

$$D_{2n} = \frac{(2n)!}{n!} \left(\frac{b+2}{2}\right)_n + \frac{(2n)!}{(n-1)!} \left(\frac{b+2}{2}\right)_{n-1}, \tag{36}$$

$$D_{2n+1} = 2 \cdot \frac{(2n+1)!}{n!} \left(\frac{b+2}{2}\right)_n. \tag{37}$$

etc.

Acknowledgements. We are thankful to Dr. Lau Yun Kau who brought to our attention reference [4] convincing us that the determinant is not that difficult to compute and to Dr. Krattenthaler for helpful comments. We also thank Dr. J.-M. Normand for reading the manuscript.

References

1. See for example, Mehta, M.L.: *Random matrices*. New York: Academic Press, 1991
2. Nyquist, H., Rice, S.O. and Riordan, J.: The distribution of random determinants. *Q. Appl. Math.* **12**, 97–104 (1954)
3. Mehta, M.L. and Normand, J.-M.: Probability density of the determinant of a random hermitian matrix. *J. Phys. A: Math. Gen.* **31**, 5377–5391 (1998) Eqs. (2.14), (2.26), (A.22), (A.23)
4. Krattenthaler, C.: Advanced determinant calculus. Preprint [www:http://radon.mat.univie.ac.at/People/kratt](http://radon.mat.univie.ac.at/People/kratt) and private communication

Communicated by H. Araki